Installation manual -

WWW.WALLTRAILER.COM



10

10 mm

| WWW.WALLTRAILER.COM



Installation Motorbike Holder

WWW.WALLTRAILER.COM 3



)
I
;
|
|
|
|
|
;

WWW.WALLTRAILER.COM



17 mm

M10 x 35 DIN 933




Installation Ramp

<& Art.n:
. 8588004988736

WWW.WALLTRAILER.COM 6






WWW.WALLTRAILER.COM 8






)

TR

I]
O

\

{

) 4

A

130 mm MAX

WWW.WALLTRAILER.COM



B
B M8 x 20 DIN 603 M8 x 20 DIN 931
(2x) - (2x)
132, fall
56— 9 R
‘R‘ A} J
Spring washer DIN 128 - A8 @ ) ----f- -
(2x) N\
\~"_ ' D8.4DIN 9021 M8 DIN 985
U3 3 26 DIN 833 () | T (4x)

]

WWW.WALLTRAILER.COM 11



N

X

oV
N\ \v /

=5 —
é
’ 7S
< Z
7
‘,,W.ﬁ, ) |
“./..

N




Installation Motorbike Holder

Art.n: : 8588004988750

: 8588004988743

Art.n:

Art.n: 8588004988736

13

| WWW.WALLTRAILER.COM



ﬁ M6 x 40 DIN 933

W”’/’—_ (4x)

(4x)
0068-80001-0

M6 DIN 985
(4x)

L/R

WWW.WALLTRAILER.COM



0068-25201-0

e\

WWW.WALLTRAILER.COM



M10 x 35 DIN 933
3 (8x)

o i -ﬂi ; !‘?"*T-" . './‘, — ::,;;;;,:1217;;_:::::112":-::":'"""'_ ‘
- = 1 s % N i:v;:,::;:,::,:rrl'::':'"',
vy =i D i‘%‘j C 1 ! I e > I
A dF=T P \

g |

=
7 |
L
1
1
e 1
®

/~
M10 DIN 985 ¥

(8x)

WWW.WALLTRAILER.COM






WWW.WALLTRAILER.COM 18



SR
/o./

| WWW.WALLTRAILER.COM



